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N.B : (1) Question 1 is compulsory. _;\':“‘.h\"‘:f;;?;
(2) Out of remaining ANY 3 Fagoes sl .
(3) Assumie suitable data wherever required. oz oy

1. Solve ANY FOUR

N

(d) What is a process metric & a product‘? lee ‘an example:, ;f,r

(e) What are some hidden costs of Outspurcmg" Why s 1t )mpoxtant to consxde( these costs?
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2. (a) What are seven IT pro;ect rlsk management proﬁesses? Epra.m e.xch? (10)

(b) Describe the three approaches tn xmpleméntmg &ﬁmformat:on systcm (10)

\‘ -";_:w'-- g

=

{a) Describe the PMBOX areﬁ of project txme managemeut & What is a work package? (10)

{b) Describe the roles of a pro;cctmmmger What quahnes are requxred for a good project
manager'? What is the dtfferencehetWeen a w rk~ group and a real team? (10)

4 (a) Bneﬂy d'esmbe the ﬁve scope managem_ tprocessgs & describe the scope planning process
N (10)
®) Explam the phases of pm_]gct hfc»-gyclertaud cbmpare it with SDLC. (10)

(10)
(10)

(10)
(10)
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2. Assume Suitable data whenever necessary.
3. Figures in the right indicate full marks.

Q1) a)Compare various cloud service models. BT
b) Write a note on Amazon Web Service (AWSj\ G NLss
b) List the benefits associated with Virtua R
d) How cloud firewall is different from a tmditmv

\y,

Q2) a)Explain the architecture of Xen hypergtsor
o RN R o e “:" .
;-«;, AN LT A A

b) What is cloud computing? Differentiate between various cloud deployinents
models.

\?

Q3) ’gma‘l{ ww&m buS:j s ’(SMB)

b) What do you undeﬁ@nd.hy“sem @mntqd»‘é‘i"bh tecm:e (SQA}?
Explain how 1t<~suppqgts',§ioq§1b : ‘
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(Time: 3 Hours) Total Marks:80

(1) Ques 1. iscoﬁlptdsory.
(2) Attempt any 3 of the remaining 5 questions.

Q1 (a) What ts AI? List down all components of AL (04)

(b) Explain the limitations of Propositional logic with suitable example. (04)
(c) Describe the Bayes theorem. (04)
—  (d) Explain any AI problem with suitable example. 04)
(€) Solve the given crypt arithmetic puzzle: (04)
BASE -
+BALL
GAMES
Q2. a) Explain Hill Climbing and Simulated Annealing with suitable example. (10)
b) Explain Goal Based and I;tﬂlty based agent with block diagram. (109
_ Q.9 What is Prolog? What do you mean by Structure in Prolog? (10)
Write a Prolog Program for family information systems.
b) What is heuristic function? Explain 8 puzzle problem. - (10
Explain the PEAS descriptor of Wumpus world problem.
Q4. a) Consider the following sentence (10)
(i) Mammals drink water.
(ii )Man is Mortal.
(iii ) Man is Mammal
(iv) Bob is Man.

Prove Bob is Mortal using modus ponen & Resolution.

b) Differentiate between Informed and Uninformed search techniques. Also explain
A* algorithm with suitable example. (10)
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Q5. a)ExphhHmﬁuhALCmmlndmhl'-r-ﬂOderPlanning
mwmmuuu#«mm&w

planning.

Paper / Subject Code: 42603 / Intelligent System
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Q6.Attempt ary 4 :

a) Backward chaining with an example.
b) Expert Shell system architecture.
¢) Conditional Prebability.

d) Knowledge base agent.

¢) Depth limited search.
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(10)
(10)

(©03)

(05)
(©05)
©5)
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: 1. Question Number 1 is compuilsory.

2. Solve any three from remaining questions.
3. Figures to the right indicate full marks.

4. Assume suitable data if necessary

by lower power transmitters so that each ceil supports. 5@% of tlte, channgl%;-_:
(1) The coverage area of each cell (ii) Total area of

systems.

b. Define the threais and challenges in .mre'ess system: Explam thﬂ djfferent types cf B
device security issues - =4

(2) a. Why is tunneling requlred “in VPN, ,. What are the p:otoceis whjxchr support
VPN, - o " 2% ‘(10 marks)

b. Why is the concept of Sprcaef Speétmm 1mpéltam‘? Br,eﬂy exp‘iam ?HSS gnd DSSS
concept. 2 <(10 marks)

{3) a. Detail the Bluetooth pm;ocol staqk w;th neat dxagram A 4 g (16 marks)
b. Elaborate the mam facto“rs of change ineconomics 0f mreleSS tecfmology (1¢ marks)

(4)3 Classify 802. Il MAC managembm ftmctxons “Expl 'an--f’-.,a.;i\'.r{c;.management function in

detail 2 ‘ : A Sos (10 marks)
b. Explaiq’ ﬁi&dé:i“ahfl"}sxpased fmn_mal..ﬁram;eﬁiwh soiusm, . (16 marks)
(10 marks)
{10 marks)
L ',Wnra ahort note‘s an (aﬁy : o (20 marks)
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} a.Define frequency resuse with a neat diagram Cons:dur a u'ans:mtter suppﬁrun 580 vox<:e:‘ St Pl o
channels over an area of 250 kms. If this area is equahy divided into 8 cells; eéoh suppaﬁed;_ g
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- Total Marks: 80

: i) Question no. 1 is compulsory
ii) Attempt any three from remaining SVl
iii) Assume necessary data ,;*" s

(a) Create an mobile application interface for onlme ﬁcket bOOkmg fo
travel agency which provides lists of tours, price’ list and available seats
and food arrangements in the particular tour. User should be able to
search for a tour, book the tour, track theﬁus, an;t give feedback. Which -
are the usability aspects you will consuler for l;hl& apphcatlon before

designing it? U A

(b)

(a)
(b)

(a) Minimize User Memory Load

(b) Exp]am various phases 'mﬂsablhty‘ - 10
(8 Explain test tasks t b erfontied apdstages T ey 10
(b) How Test Users thamed and Expenmcmels:are_ chosen i 10
(a) ' 10
(b) 10

Write shm:t not& on S 20

-a) National International smndards R

b) -Usability- Laboratones S -%‘

c) CAUSETOOI' r Sy ATy
% u‘]} Ethfcal aspécts of tests Wzlhhumm

N
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